
Completa: ricorda di calcolare i riporti 

 

….. 7 5 6 0 …... +  ….. 6 ….. 9 8 7 + 

5 ….. ….. 1 …. 8 =    ….. 5 2 ….. ….. = 

7 4 9 ….. 5 2   3 5 6 ….. 1 5  

               

4 5 …. 0 …. 1 +  3 5 6 1 …. 8 + 

3 … 7 7 …. …. =  2 ….. ….. 7 9 ….. = 

…. 0 4 8 8 6   ….. 0 7 …. 0 5  

               

               

3 …. 0 9 ….. 7 +  ….. 5 ….. ….. ….. 5 + 

….. 9 9 ….. 7 ….. =    …. 8 2 9 3 = 

9 0 ..... 1 6 9   5 2 8 4 1 …..  

          

 
     

1 4 7 ….. 7 1 +  ….. 7 4 8 9 ….. + 

….. 4 …. 2 ….. ….. =  5 ….. ….. 8 …. 1 = 

9 ….. 4 8 5 6   9 4 0 ….. 2 0  

               

 

….. 7 3 5 0 …... +  ….. 8 ….. 9 8 8 + 

5 ….. ….. 1 …. 7 =    ….. 5 3 ….. ….. = 

6 3 9 ….. 6 1   4 5 6 ….. 2 5  
 


